Eaesfiall] (e
R\ o I Dioemotd b ;

23 Grasghtte

37 Coal

o7 Diammd ¢ uaed an gamss ~
S

B R e

eleckriaty -




tredecial . | ] s = . :

bP Boan = Tomahe smhen daps.

(3 Coats o o voed oyl ol 18







:

8 m the Manks

" pefiers W the number of atoms in the |

modecuie Of an clement.

4, The most abundant clement in the earth’s crust |
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\ metal which 1s a iquad at room temperature

s

4. The most abundant element in the atmosphere
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¢ A metal which is a poor conductor of
electncity 1S .La,,%"("

#) A disomic gascous element is . XYARN.

) A iquid non-metal is . omine.

2. Mach the columns :
Column A Column B \
(a) Metals ~ (i) Non-reactive
(b) Molecules\ i) Brittle
(¢} Non-metal¢”\ (iii) Lustrous
{d) Noble gases \iiv) Smallest unit of compound

Hlements. Compounds, Symbols and Formulae
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3. Indicate whether the following statements are frue

or false.
{a) A compound is made up of just one
kind of atom. fakse
(b) Metals reflect light and are good
conductors of electricity. TM
(c) Metals can be polished. Trua

(d) Elements are made up of compounds. éam
(e) All elements are artificially prepared. %w

() Molecules can exist independently. JOL
(g) Molecules combine to form atoms. .éq.ls.e

(h) Noble gases are highly reactive. ‘g\w
(i) Ozone is a triatomic molecule. AT
MULTIPLE CHOICE QUESTIONS

Tick (v”) the correct alternative from the choice given
for the following statements :

1. All pure substances have
(a) the same physical state
(b) the same colour
(c) the same composition
\[#f a definite set of properties
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: SUpar i & compound which consists ol the elements
f Carton and hydrogen
N hydrogen and oxygen
U,\MUM), hvdrogen amd Oaygen
td) hydrogen, carbon and salphur

L Aroms of difforent kinds combine to form molecules
of

fal an clement 0 compound

) & mixture () all of the above
4 Sulphur and carbon are

(@) motals )m’nuu-nnwluls

() motallowds (d) noble gases

£ Gold is used 10 make jewellery because
fa) ot dull
Ubs lustrous and attractive
fc) mghly reactive
(d! very cheap
6. The most abundant elements in the universe are

fa) neon und argon
7 hydrogen and helium
fc)  aluminum and copper
(d) oxygen and nitrogen |

Ihe compound used as common gale &

My Soddium chloride
(b)) calcium chloride

() sodium oxide
(d)  hydrogen chloride
8. Brass and bronze are
fa) elements
(¢) compounds
9, Sand is a compound of
(@) silicon and nitrogen
\(b#silicon and oxygen
(¢) oxygen and sulphur
(d) none of the above

From the list given below select the com
which is most suitable to the statements g

[oxygen, diamond, zine, graphite, gold]
(@) A metal which is brittle. Z¥ne,

(b) A non-metal which is a good co

electricity. (nyrap hite b
(¢) The hardest nam oceurring sub
(d) The most ductile metal. goﬂ .

(e) A gaseous non-metal, b‘(a
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